FACTA UNIVERSITATIS (NIŠ) SER. MATH. INFORM. Vol. 35, No 1 (2020), 1-10 https://doi.org/10.22190/FUMI2001001K

ON NON-INVARIANT HYPERSURFACES OF AN $\varepsilon\text{-PARA}$ SASAKIAN MANIFOLD

Shyam Kishor and Prerna Kanaujia

© 2020 by University of Niš, Serbia | Creative Commons License: CC BY-NC-ND

Abstract. Non-invariant hypersurfaces of an ε - para Sasakian manifold of an induced structure (f, g, u, v, λ) have been studied in this paper. Some properties followed by this structure have ben obtained. A necessary and sufficient condition for totally umbilical non-invariant hypersurfaces equipped with (f, g, u, v, λ) – structure of ε -para Sasakian manifold to be totally geodesic has also been explored.

Keywords: ε – Para Sasakian Manifold, totally umbilical, totally geodesic.

1. Introduction

In 1976, Sato [1] introduced a structure (ϕ, ξ, η) satisfying $\phi^2 = I - \eta \otimes \xi$ and $\eta(\xi) = 1$ on a differentiable manifold, which is now well known as an almost paracontact structure. The structure is an analogue of the almost contact structure [2,3] and is closely related to almost product structure (in contrast to almost contact structure, which is related to almost complex structure). An almost contact manifold is always odd-dimensional but an almost paracontact manifold could be even-dimensional as well. In 1969, T. Takahashi [4] introduced almost contact manifolds equipped with associated pseudo Riemannian metrics. In particular, he studied Sasakian manifolds equipped with an associated pseudo- Riemannian metric. These indefinite almost contact metric manifolds and indefinite Sasakian manifolds are also known as ε -almost contact metric manifolds and ε -Sasakian manifolds respectively [5, 6, 7]. Also, in 1989, K. Matsumoto [8] replaced the structure vector field ξ by $-\xi$ in an almost paracontact manifold and associated a Lorentzian metric with the resulting structure, calling it a Lorentzian almost paracontact manifold. In a Lorentzian almost paracontact manifold given by Matsumoto, the semi-Riemannian metric has only index 1 and the structure vector field ξ is always timelike. These circumstances motivated the authors in [9] to associate a semi-Riemannian metric, not necessarily Lorentzian, with an almost paracontact structure, and they called this indefinite

Received June 21, 2016; accepted December 07, 2018

²⁰¹⁰ Mathematics Subject Classification. [2000], 53B25, 53C40.

almost paracontact metric structure an ε -almost paracontact structure, where the structure vector field ξ is spacelike or timelike according as $\varepsilon = 1$ or $\varepsilon = -1$.

In [9] the authors studied ε -almost paracontact manifolds, and in particular, ε -para Sasakian manifolds. They gave basic definitions, some examples of ε -almost paracontact manifolds and introduced the notion of an ε -para Sasakian structure. The basic properties, some typical identities for curvature tensor and Ricci tensor of the ε -para Sasakian manifolds were also studied in [9]. The authors in [9] proved that if a semi-Riemannian manifold is one of flat, proper recurrent or proper Ricci-recurrent, then it can not admit an ε -para Sasakian structure. Also, they showed that, for an ε -para Sasakian manifold, the conditions of being symmetric, semi-symmetric or of constant sectional curvature are all identical.

On the other hand In 1970, S. I. Goldberg et. al [10] introduced the notion of a non-invariant hypersurface of an almost contact manifold in which the transform of a tangent vector of the hypersurface by the (1, 1) structure tensor field ϕ defining the almost contact structure is never tangent to the hypersurface.

The notion of (f, g, u, v, λ) – structure was given by K.Yano [11]. It is well known [12, 13] that a hypersurface of an almost contact metric manifold always admits a (f, g, u, v, λ) – structure. Authors [10] proved that there always exists a (f, g, u, v, λ) – structure on a non-invariant hypersurface of an almost contact metric manifold. They also proved that there does not exist invariant hypersurface of a contact manifold. R. Prasad [14] studied the non-invariant hypersurfaces of trans-Sasakian manifolds. Non-invariant hypersurfaces of nearly Trans-Sasakian manifold have been studied by S. Kishor et. al [15]. The present paper is devoted to the study of non-invariant hypersurfaces of ε -para Sasakian manifolds. The contents of the paper are organized as follows:

In section-2 some preliminaries are given. Section-3 deals with the study of noninvariant hypersurfaces of ε -para Sasakian manifolds. A necessary and sufficient condition for a totally umbilical non-invariant hypersurface of an ε -para Sasakian manifold to be totally geodesic is found.

2. Preliminaries

- Let \widetilde{M} be an almost contact metric manifold with almost contact metric structure (ϕ, ξ, η, g) where ϕ is (1, 1) tensor field, η is 1– form and g is a compatible Riemannian metric such that
- (2.1) $\phi^2 = I \eta \otimes \xi, \quad \eta(\xi) = 1, \quad \phi(\xi) = 0, \quad \eta o \phi = 0,$

(2.2)
$$g(\phi X, \phi Y) = g(X, Y) - \epsilon \eta(X) \eta(Y),$$

(2.3)
$$g(X,\phi Y) = g(\phi X,Y), \quad g(X,\xi) = \epsilon \eta(X)$$

for all $X, Y \in TM$.

An almost contact metric manifold is an ε -para Sasakian manifold if

(2.4)
$$(\widetilde{\nabla}_X \phi)(Y) = -g(\phi X, \phi Y) - \epsilon \eta(Y) \phi^2 X$$

for for all vector fields X, Y on M where $\stackrel{\sim}{\nabla}$ is the operator of covariant differentiation with respect to g. From (2.4), we have

(2.5)
$$\widetilde{\nabla}_X \xi = \varepsilon \phi X$$

A hypersurface of an almost contact metric manifold $\widetilde{M}(\phi,\xi,\eta,g)$ is called a noninvariant hypersurface, if the transform of a tangent vector of the hypersurface under the action of (1,1) tensor field ϕ defining the contact structure is never tangent to the hypersurface. Let X be a tangent vector on a non-invariant hypersurface of an almost contact metric manifold \widetilde{M} , then $X\phi$ is never tangent to the hypersurface.

Let M be a non-invariant hypersurface of an almost contact metric

manifold, then defining

(2.6)
$$\phi X = f X + u(X) \stackrel{\wedge}{N},$$

(2.7)
$$\phi \stackrel{\wedge}{N} = -U,$$

(2.8)
$$\xi = V + \lambda \hat{N}, \qquad \lambda = n(\hat{N});$$

(2.9)
$$\eta(X) = \nu(X),$$

where f is a (1,1) tensor field, u, v are 1-forms, \hat{N} is a unit normal to the hypersurface, $X \in TM$ and $u(X) \neq 0$, then we get an induced (f, g, u, v, λ) structure on M satisfying the conditions [11, 12] :

(2.10)
$$f^2 = -I + u \otimes U + v \otimes V,$$

(2.11)
$$fU = -\lambda V, \quad fV = \lambda U$$

(2.12)
$$uof = \lambda v, \quad vof = -\lambda u,$$

(2.13)
$$u(U) = 1 - \lambda^2, \quad u(V) = v(U) = 0, \quad v(V) = 1 - \lambda^2,$$

(2.14)
$$g(fX, fY) = g(X, Y) - u(X)u(Y) - v(X)v(Y),$$

(2.15)
$$g(X, fY) = -g(fX, Y), \qquad g(X, U) = u(X), \qquad g(X, V) = v(X),$$

for all $X, Y \in TM$, where $\lambda = n(\hat{N})$.

The Gauss and Weingarten formulae are given by

(2.16)
$$\widetilde{\nabla}_X Y = \nabla_X Y + \sigma(X, Y) \hat{N},$$

(2.17)
$$\widetilde{\nabla}_X \hat{N} = -A_{\hat{N}} X,$$

for all $X, Y \in TM$, where $\stackrel{\sim}{\forall}$ and \forall are the Riemannian and induced Riemannian connections on $\stackrel{\sim}{M}$ and M respectively and $\stackrel{\wedge}{N}$ is the unit normal vector in the normal bundle $T^{\perp}M$. The second fundamental form σ on M is related to $A_{\stackrel{\wedge}{N}}$ by

(2.18)
$$\sigma(X,Y) = g(A_{\bigwedge_N} X,Y), \quad \text{for all } X,Y \in TM.$$

3. Non-invariant Hypersurfaces

Lemma 3.1. Let M be a non-invariant hypersurface with (f, g, u, v, λ) -structure of an ε -para Sasakian manifold \widetilde{M} , then

$$(3.1) \quad (\widetilde{\nabla}_X \phi)Y = (\nabla_X f)Y - u(Y)A_{\hat{N}}X + \sigma(X,Y)U + ((\nabla_X u)Y + \sigma(X,fY))\hat{N}$$

(3.2)
$$(\widetilde{\nabla}_X \eta)Y = (\nabla_X u)Y - \lambda\sigma(X,Y)$$

(3.3)
$$\widetilde{\nabla}_X \xi = \left(\nabla_X V - \lambda A_{\hat{N}} X \right) + (\sigma(X, V) + X \lambda) \hat{N}$$

for all $X, Y \in TM$.

Proof. : Consider

$$\begin{aligned} (\widetilde{\nabla}_X \phi)Y &= \widetilde{\nabla}_X (\phi Y) - \phi(\widetilde{\nabla}_X Y) \\ &= \widetilde{\nabla}_X (fY + u(Y) \hat{N}) - \phi(\nabla_X Y + \sigma(X, Y) \hat{N}) \\ &= \widetilde{\nabla}_X (fY) + \widetilde{\nabla}_X (u(Y) \hat{N}) - f(\nabla_X Y) - u(\nabla_X Y) \hat{N} - \sigma(X, Y) (-U) \\ &= \nabla_X (fY) + \sigma(X, fY) \hat{N} + u(Y) (-A_{\hat{N}} X) + \nabla_X (u(Y)) \hat{N} - f(\nabla_X Y) \\ &- u(\nabla_X Y) \hat{N} + \sigma(X, Y) U \end{aligned}$$

4

which gives,

$$(\widetilde{\nabla}_X \phi)Y = (\nabla_X f)Y - u(Y)(A_{\hat{N}}X) + \sigma(X,Y)U + (\nabla_X u)Y + \sigma(X,fY)\hat{N}$$

Also,

$$(\widetilde{\nabla}_X \eta)Y = \widetilde{\nabla}_X \eta(Y) - \eta(\widetilde{\nabla}_X Y)$$

= $\nabla_X (v(Y)) - v(\nabla_X Y) - \sigma (X,Y) \eta(\hat{N}).$

Therefore

$$(\widetilde{\nabla}_X \eta)Y = (\nabla_X u)Y - \lambda\sigma(X,Y)$$

Now consider

$$\widetilde{\nabla}_{X}\xi = \nabla_{X}\xi + \sigma(X,\xi)\hat{N} = \nabla_{X}V + \nabla_{X}\lambda\hat{N} + \sigma(X,V)\hat{N} = \nabla_{X}V - \lambda\nabla_{X}\hat{N} + (X\lambda)\hat{N} + \sigma(X,V)\hat{N}$$

which gives

$$\widetilde{\nabla}_X \xi = \left(\nabla_X V - \lambda A_{\bigwedge} X \right) + (\sigma(X, V) + X \lambda) \hat{N}.$$

Theorem 3.1. Let M be a non-invariant hypersurface with $(f, g, u, v, \lambda) - structure of an <math>\varepsilon$ -para Sasakian manifold \widetilde{M} , then

(3.4)
$$\sigma(X,\xi)U = -\varepsilon f^2 X + \varepsilon u(X)U + f(\nabla_X \xi),$$

and

(3.5)
$$u\left(\nabla_X\xi\right) = -\varepsilon u(fX)$$

Proof. Consider

$$\left(\widetilde{\nabla}_X \phi \right) \xi = \widetilde{\nabla}_X \left(\phi \xi \right) - \phi \left(\widetilde{\nabla}_X \xi \right)$$
$$= -\varepsilon \phi \left(\phi X \right)$$

or

(3.6)
$$\left(\widetilde{\nabla}_X\phi\right)\xi = -\varepsilon\phi\left(fX + u(X)\right)\hat{N}$$

Also we know that

(3.7)
$$\left(\widetilde{\nabla}_X\phi\right)\xi = -\phi\left(\nabla_X\xi\right) + \sigma(X,\xi)U$$

From (3.6) and (3.7), we have

$$-\phi (\nabla_X \xi) + \sigma(X, \xi)U = -\varepsilon \phi (fX + u(X)) \hat{N}$$
$$= -\varepsilon \phi (fX) + \epsilon u(X)U$$

Now from (2.6) & (2.7), we have

$$-f(\nabla_X \xi) - u(\nabla_X \xi) \stackrel{\wedge}{N} + \sigma(X,\xi)U = -\varepsilon(f(fX) + u(fX) \stackrel{\wedge}{N}) + \varepsilon u(X)U$$

Equating tangential and normal parts, we get

$$\sigma(X,\xi)U = -\varepsilon f^2 X + \varepsilon u(X)U + f(\nabla_X \xi),$$

and

$$u\left(\nabla_X\xi\right) = -\varepsilon u(fX)$$

Theorem 3.2. Let M be a non-invariant hypersurface with $(f, g, u, v, \lambda) - struc$ $ture of an <math>\varepsilon$ -para Sasakian manifold \widetilde{M} , then

(3.8)
$$(\nabla_X f) Y = -g(X, Y)V + \varepsilon v(Y)X + \sigma(X, Y)U + u(Y)A_{\bigwedge}X$$

(3.9)
$$(\nabla_X u) Y = -\lambda g (X, Y) - \sigma (X, fY)$$

Proof. From equations (3.1) & (2.4), we have

$$(\nabla_X f) Y - u(Y) A_{\hat{N}} X + \sigma(X, Y) U + ((\nabla_X u) Y + \sigma(X, fY)) \hat{N}$$

= $-g(X, Y) V - \lambda g(X, Y) \hat{N} + \varepsilon v(Y) X$

Equating tangential and normal parts in the above equation, we get (3.8) & (3.9) respectively. $\hfill\square$

Theorem 3.3. Let M be a non-invariant hypersurface with $(f, g, u, v, \lambda) - structure of an <math>\varepsilon$ -para Sasakian manifold \widetilde{M} , then

(3.10)
$$\left(\widetilde{\nabla}_{X}\phi\right)Y = -g(X,Y)V - \lambda g\left(X,Y\right)\hat{N} + \varepsilon v(Y)X + 2\sigma\left(X,Y\right)U$$

Proof. Consider

$$\begin{pmatrix} \widetilde{\nabla}_X \phi \end{pmatrix} Y = \widetilde{\nabla}_X (\phi Y) - \phi \left(\widetilde{\nabla}_X Y \right) \\ = \widetilde{\nabla}_X (fY) + \widetilde{\nabla}_X \left(u(Y) \hat{N} \right) - f \left(\nabla_X Y \right) - u \left(\nabla_X Y \right) \hat{N},$$

This implies

$$(3.11) \quad \left(\widetilde{\nabla}_{X}\phi\right)Y = (\nabla_{X}f)Y - u(Y)A_{\hat{N}}X + \sigma(X,Y)U + ((\nabla_{X}u)Y + \sigma(X,fY))\hat{N}$$

Using (3.8) & (3.9) ,above equation reduces to
$$\left(\widetilde{\nabla}_{X}\phi\right)Y = -g\left(X,Y\right)V - \lambda g\left(X,Y\right)\hat{N} + \epsilon v(Y)X + 2\sigma(X,Y)U$$

Furthur, we proceed for some results on totally geodesic non–invariant hypersurfaces.

Theorem 3.4. Let M be a totally umbilical non-invariant hypersurface with $(f, g, u, v, \lambda) - structure$ of an ε -para Sasakian manifold \widetilde{M} , then it is totally geodesic if and only if

(3.12)
$$\varepsilon u(X) - X\lambda = 0$$

Proof. Consider

$$\begin{aligned} \widetilde{\nabla}_{X}\xi &= \nabla_{X}\xi + \sigma(X,\xi)\hat{N} \\ &= \nabla_{X}(V + \lambda\hat{N}) + \sigma(X,V)\hat{N} \\ &= \nabla_{X}V + \nabla_{X}\lambda\hat{N} + \sigma(X,V)\hat{N} \\ &= \nabla_{X}V + \lambda\nabla_{X}\hat{N} + (X\lambda)\hat{N} + \sigma(X,V)\hat{N} \end{aligned}$$

or

(3.13)
$$\widetilde{\nabla}_X \xi = \left(\nabla_X V - \lambda A_{\stackrel{\wedge}{N}} X \right) + (\sigma(X, V) + X \lambda) \stackrel{\wedge}{N},$$

Now from (2.5), the above equation is reduced to

$$\varepsilon(fX+u(X)\hat{N}) = \left(\nabla_X V - \lambda A_{\hat{N}} X\right) + (\sigma(X,V) + X\lambda)\hat{N},$$

Equating normal parts on both the sides, we get

(3.14)
$$\sigma(X,V) + X\lambda = \varepsilon u(X)$$

Now if M is totally umbilical, then $A_{\hat{N}} = \zeta I$, ζ is Kahlerian metric and equation (2.18) reduces to $\sigma(X, Y) = g\left(A_{\hat{N}}X, Y\right) = g\left(\zeta X, Y\right) = \zeta g(X, Y)$,

Therefore

$$\sigma\left(X,Y\right) = \zeta g(X,Y),$$

S. Kishor and P. Kanaujia

and equation (3.14) implies

$$\zeta g(X,Y) + X\lambda = \varepsilon u(X)$$

or

(3.15)
$$\varepsilon u(X) - X\lambda - \zeta g(X,Y) = 0$$

Now if M is totally geodesic i.e. $\zeta = 0$, then (3.15) gives

$$\varepsilon u(X) - X\lambda = 0.$$

Theorem 3.5. Let M be a non-invariant hypersurface with $(f, g, u, v, \lambda) - struc$ $ture of an <math>\varepsilon$ -para Sasakian manifold \widetilde{M} . If U is parallel, then we have

(3.16)
$$\varepsilon\lambda X + f\left(A_{\hat{N}}X\right) - g(\phi X, U)V - \varepsilon\lambda v(X)V = 0$$

Proof. Consider

$$\begin{split} (\widetilde{\nabla}_X \phi) \stackrel{\wedge}{N} &= \widetilde{\nabla}_X \phi \stackrel{\wedge}{N} - \phi \left(\widetilde{\nabla}_X \stackrel{\wedge}{N} \right) \\ &= -\widetilde{\nabla}_X U - \phi (-A_{\stackrel{\wedge}{N}} X) \\ &= -\widetilde{\nabla}_X U - (-f(-A_{\stackrel{\wedge}{N}} X) - u(A_{\stackrel{\wedge}{N}} X) \stackrel{\wedge}{N}) \end{split}$$

This gives

(3.17)
$$(\widetilde{\nabla}_X \phi) \hat{N} = -\nabla_X U + f(A_{\hat{N}} X)$$

From equation (2.4), we have

(3.18)
$$(\widetilde{\nabla}_{X}\phi)Y = -g(\phi X, \phi Y)V - \lambda g(\phi X, \phi Y)\hat{N} + \varepsilon \eta(Y)X - \varepsilon \eta(X)\eta(Y)\xi$$

Substituting $Y = \hat{N}$, we have

(3.19)
$$(\widetilde{\nabla}_X \phi) \hat{N} = g(\phi X, U)V + \lambda g(\phi X, U) \hat{N} - \varepsilon \lambda X + \varepsilon \lambda v(X)\xi$$

Now from (3.17) and (3.19), we have

$$-\nabla_X U + f(A_{\hat{N}} X) = g(\phi X, U)V + \lambda g(\phi X, U) \hat{N} - \varepsilon \lambda X + \varepsilon \lambda v(X) \xi$$

Equating tangential parts on both the sides, we have

(3.20)
$$\nabla_X U = f(A_{\bigwedge} X) - g(\phi X, U)V - \varepsilon \lambda X + \varepsilon \lambda v(X)V$$

Now if U is parellel, then

$$\varepsilon\lambda X - f(A_{\bigwedge_N} X) + g(\phi X, U)V - \varepsilon\lambda v(X)V = 0$$

REFERENCES

- I. SATO, On a structure similar to the almost contact structure, Tensor, N.S., 30, No. 3(1976), 219 224.
- 2. S. SASAKI, On differentiable manifolds with certain structures which are closely related to almost contact structure I, Tohoku Math. J., 12, No. 2 (1960), 459 – 476.
- 3. D.E. BLAIR, *Riemannian Geometry of Contact and Symplectic Manifolds*, Progress in Mathematics, 203, Birkhauser Boston, Inc., Boston, MA (2002).
- T. TAKAHASHI, Sasakian manifold with pseudo-Riemannian metric, Tohoku Math. J., 21, No. 2(1969), 644 – 653.
- A. BEJANCU, K.L. DUGGAL, Real hypersurfaces of indefinite Kaehler manifolds, Internat. J. Math. Math. Sci., 16, No. 3(1993), 545 – 556.
- K.L. DUGGAL, Space time manifolds and contact structures, Internat. J. Math. Math. Sci., 13(1990), 545 – 554.
- K.L. DUGGAL, B. SAHIN, Lightlike submanifolds of indefinite Sasakian manifolds, Int. J. Math. Math. Sci., Art. ID 57585(2007), 21 pp.
- K. MATSUMOTO, I. MIHAI, R. ROSCA, ξ−null geodesic gradient vector fields on a Lorentzian para-Sasakian manifold, J. Korean Math. Soc., 32, No.1 (1995), 17 – 31.
- M.M. TRIPATHI, E. KILIC, S.Y. PERKTAŞ, S. KELEŞ, Indefinite almost paracontact metric manifolds, Int. J. Math. Math. Sci., Art. ID 846195(2010), 19 pp.
- S. I. GOLDBERG, K. YANO, Non-invariant Hypersurfaces of Almost Contact Manifolds, J. of Math. Soc. Japan, 22(1970), 25 – 35.
- 11. K. YANO, M. OKUMURA, On (f, g, u, v, λ) Structures, Kodai Math. Sem. Rep., 22(1970), 401 423.
- K. YANO, M. OKUMURA, Invariant Submanifolds with (f, g, u, v, λ) Structures, Kodai Math. Sem. Rep., 24(1972), 75 – 90.
- D. E. BLAIR, G. D. LUDDEN, Hypersurfaces in Almost Contact Manifold, Tohoku Math. J., 22(1969), 354 - 362.
- R. PRASAD, On Non-invariant Hypersurfaces of Trans- Sasakian Manifolds, J. Inter. Acad. Phys. Sci., 6(2002), 33 – 40.

- S. KISHOR, S.P. YADAV, On Non-invariant Hypersurfaces of Nearly Trans-Sasakian, Manifold, J. of Mathematics, Hindawi, Math. Sci., Art. ID 657690(2014), 5 pp, dx.doi.org/10.1155/2014/657690.
- 16. K. YANO, M. OKUMURA, Invariant Hypersurfaces of Manifold with (f, g, u, v, λ) -Structures, Kodai Math. Sem. Rep., 23(1971), 290 304.
- K. YANO, SANG-SEUP EUM AND U-HANG KI, On Transversal Hypersurfaces of an Almost Contact Manifold, Kodai math. Sem. Rep., 24(1972), 459 – 470.
- S. S. EUM, On Complex Hypersurfaces in Normal Almost Contact Spaces, Tensor, 19(1968), 45 – 50.
- 19. B. Y. CHEN, Geometry of Slant Submanifolds, Katholieke Universiteit Leuven, 1990.
- S. YAMAGUCHI, On Hypersurfaces in Sasakian Manifold, Kodai Math. Sem. Rep., 21(1969), 64 – 72.

Shyam Kishor Department of Mathematics & Astronomy University of Lucknow Lucknow 226007, Uttar Pradesh, India. skishormath@gmail.com

Prerna Kanaujia Department of Mathematics & Astronomy University of Lucknow Lucknow 226007, Uttar Pradesh, India. prerna.maths@gmail.com

10